QUESTION BOOKLEC /1 oo
This question paper contains 170 questions. / %8 KK .

All questions are compulsory, / gsfy 98 HfEE e | a:n%n S
One question carries half mark only. / @& W31 o ferg @

3R 37 : 85
Maximum Marks : 85 T : 2 °Ue
Time : 2 Hours ‘
1. Haversian canals are found in . D) L
(A) Bones (B) Brain (C) Kidneys (D) Lungs

(A) et (B) wfessd () A (D) am}ua

2.  Heat regulating Centre is located at —

(A) Thalamus (B) Hypothalamus

(C) Medulla oblongata (D) Cerebrum s

ST Fr &g erafRa B “

(4) dmw -
(C) Wm bi‘..ﬂ

3.  Mitral cells are plesex

(A) Ki (B) Mitral valve
(C) Ol%ﬂ (D) Optic nerve
(A) T (B) fﬁiﬂfﬂﬁ’ﬁ ) wmyE (D) g A

4.  Sensitive pigmented layer of eye is —

"~ (A) Cornea (B) Retina (©) Sclerotic (D) Iris
¥ 1 Gl aolehal TR 2 -
(A) Weghsd (B) gfR wew
(C) vedues - | (D) witarfeeht (gﬁﬁﬁ)

5. The Nissl’s granules of nervz cells are made wp of -
) Riboso D) Protein, - .
(A) DNA (B) RNA mes ( )
e ifarral b1 e ﬁ"\’"‘"qa’ﬁ@?ﬁﬁ
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10.

11.

. 12,

e

T

The i0i oen sacrum and coccyX isa-

(A) tg};;;iﬁi:t betwee‘ (B) Sy11ostosis '
(C) Synchondrosis (D) @S_:; ﬂ%dGSITIOSlS
Ve e e 3 e Fd T B SR B R 2

(A) frmeim (B) s (C) fmiftm (D) fuseifom

The main solute component of urine is — ‘ N

(A) Urea (B) Glucose (C) Agglutin (D) Urobilinogen
T g e ueh R - -
(A) e ® wFs (O TE (D) TR
The site-of oogenesis is

(A) Ovary (B) Ovum (C) Oocyte (D) Oviduct
HElH1 r

(A) JemEd  (B) FeO[H (C) FSHH (D) Tésentei

Bone is the example of —

(A) Connective tissues (B) Epithelial tissues

(C) Nervous tissues . (D)  Muscle tissues

shea frapi Sqem 7

(A) T Fdes &l (B) SUHAI Haidh I

(C) =R SHdsh | (D) wrEsf =

Afferent nerve fibres carry impulses from —

(A) Effector organs to CNS (B) Receptors to CNS
(C) CNS to receptors (D) CNS to muscles

_ ! T AT H A BT R : -

(A) GaemTE 31 ¥ CNS (B) H{wTes & CNS

(C) CNS ¥ s dh (D) CNS ¥ ¥ T

Length of male urethra is approximately —
T AT 6l TS I ¢ -
(A) 18-20em = (B) 10-12cm  (C) 30-40em (D) 2-4cm

Which bacteria is normally present in vagina ? o

(A) Streptococci , (B) - Hemophilius influenzae
(C) Lactqbacillus acidophilus (D) Corynebacterium Sp.
At & wrTra: S T i (Sham) gy ?

(A) T () frdRE TR
(C) wFReRew tRigwzed (D) SR w,
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13,

14

16.

Blood groups were first discovered by -

(A) Robert Koch (By Karl Landsteiner

(€©) Paul Ehrlich & (D) Anton Von Leuwenhock

TR TR VU TR 1y Q)

(A) m‘ﬁﬂm (1) Wéﬁm%mm

(C) W= fefefs gra (D) TR iR R Z

Which of the following arteries primarily feeds the anterior wall of the heart 7
(A) Circumflex artery (B) Internal mammary artery

(C) Left anterior descending artery (D) Right coronary artery
i o & B T g o &9 3 g B swad) 5 Gifea #2087
(A) Tieses unedt (B) aiaftes T ool

(C) =t el 3=} et (D) TRl &g awl

The term respiration refers to — e Q
(A) Ventilation (B) Ga xch&: ithin lungs

(C) Oxygen utilization within cells (D ese
g yaua Geifa 8
(A) HaraA § ﬁ

(B) ¥gi et el 5 PG

(C) Hifimmaf & v*‘ Teellg & ST |

(D) Tt

\\Y% 0 tement by the client to the nurse indicates a risk factor for
cor. eryidisease ?

(A) Iexercise every other day

(B) My father died of Myasthenia Gravis

(C) My cholesterol is 180

(D) I smoke 1% packs of cigareltes per day

gt gr T @ fem R w4 A e g g o R 6 3R e we dmd w
ifem & 7

(A) s gt f a1

(B) it firn ) g wrgeanfren AR D gl o |

(C) T werete 180 8 |

(D) # wfa feaw 14 e fome Hfln f
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17.  Which complication of cardiac catheterization should the nurse monitor for

in the initial 24 hrs after the procedure ? .
(A) Angina at risk (B) Thrombus formation

(C) Dizziness (D) Falling blood pressure

wisha quf 81 % o T 24 5 % forn 78 B g TEA-TATH! TR Bl
o wifeetan =it mifvex st =fed ?

(A) TTEIYETE SREH ' (B) U= (YT Fmfor

(C). =Rt (gl | (D) T W =

t on a client posterior right

18. The nurse is performing a neurological assessmen
rse, would

Cerebro vascular accident. Which finding, if observed by the nu
warrant immediate attention ?

(A) Decrease in level of consciousness

(B) Loss of bladder control

(C) Altered sensation to stimuli

(D) Emotional lability |
qﬁ@nﬂa%mw@i@-mmﬂézwz@vﬁsﬁwmﬁzm@% I
1w Fred AR 78 gRT STaaEa g 2, T Stea S 7 ?

(A) = & T H firrae (B) 3R foror & g

(C) JeomT % SR TitEeH HeleT (D) Frasfia Jrferar

19. Which drug is used in the treatment of hyperthyroidism ?
(A) Levothryroxine sodium

(B) Thyroglobulin |
© (C) Lugaol’s solution (strong iodine solution)

(D) Calcitonin-Human

e SHfesraa 3 fore ferer g 1 Swa femar st @ 2

(A) et disad (B) URUTEIS]{eH
(C) e e (i aEifeA vie) (D) Hcwaitm — g

20. A nurse enters a client’s room to discover that the client has no pulse and
respirations. After calling for help, the first action the nurse should take is —
(A) Start a peripheral IV (B) Initiate closed chest massage
(C) Establish an airway (D) Obtain the crash cart

T 8 T TS o e T8 6 B & R R F @ 6wl § W e
xmﬁ%lm%mmmﬁ%m,ﬁﬁmmm
(A) WERIVIHA | (B) oeliy 8 TS SR |

(C) AT T et (D) STITEEHTE I I el

1 Al Sy e o 1 1 e
A e B v, b . e e,

———
P o i
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21.

22.

23.

24,

25.

26,

Kussmaul's breathing is associated with —-

(A) Pneumonia (B) Diabetic Ketoacidosis

(C) Cardiac arrest | (D) Pubmonary embolism
HIH e R gmg R -

(A) ZAfE @ - (B) <rafafes frdrfeia A
(©) whegly (D) BRI S
Pheochroniocytoma is associated with —

(A) Adrenal gland : (B) Pituitary gland

(C) Pancreas : (D) Thyroid gland
o T e
(A) aRmEs IR (B) damafr () WA (D) e Uty
Webster test is done to diagnose — -

(A) Eye problem | (B) Hearing loss oo
(C) Respiratory problem (D) Cardiac problem Basn
e e e Pt 3 g 1 el 2 7 |

(A) FHamen (B) suEH () vaEH ) geEn (D) ST hl THE
Nurse patient ratio in ICU should be (f'or 24 hrs)

ICU # =14 #{ist <1 37T (24 w21 % forw) g =nfey -

(A) 1:3 B) 1:1 € 2:1 (D) 1:2
Complication of myocardial infarction includes

(A) CHF (B) Arrhythmias

(C) Cardiogenic shock (D) All of these

(A) CHF (B) A (C) TRSRAEE (D) F@adt
Fracture within the last inch of the distal radius is known as

(A) Colle’s fracture . (B) Pott's fracture

(C) Edward’s fracture (D) None of these

. e s 3 a1 A g st weendd -

(A) Frch s7fRni (B) WE AT . (C) Tewd R (D) T A PE A

s e 5 P s 5 e e
S e T . o TR p——
i — o
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27.  Which of the following alimentary canal is the most common location for

hron’s di 9 .

(A) D:scleslfdaisr?g‘colon (B) Jqunpm i
Sismoid colon (D) Terminal ileum

e R SR .

(A) ¥t geeia (B) WEATA (C) STITE & (D) HwTerell A

28. Preparation of the client for occult blood examination is

(A) Fluid intake limited only to 1 litre/day
(B) NPO for 12 hrs prior to obtaining of specimen

(C) Increase fluid intake ) . .
(D) Meat less diet for 48 hrs prior to obtaining of specimen

Tt 3 T T e & g A @
(A) T TEY I T Toret i feaa e Wifi T |
(B) T oR & gd 12 592l & TAU NPO |
(C) Tt TRV ST |
(D) T o & gd 48 6l % forg T Wed WIS |
29. The nurse preparing to assist the physician to examine the client’s skin with

a wood’s light would do which of the following ?

(A) Obtain an informed consent
(B) Tell the client that the procedure is painless

(C) Shave the skin site
(D) Prepare a local anesthetic

T T RefiefiEa # ggam 61 aard wea ge fopdh wiw i e %1 98 wEe ®
Ty qhem F@A & foe = 3 4 =t ?

(A) T gfera eafd o S |

(B) T % Sqen@ <t ST die ed € |

(C) wige areft e i Ta wuft

(D) T T TSt Jar Rt |

30. If breath sounds are only heard on the right side after intubation —
(A) Extubate, ventilate for 30 seconds then try again
(B) The patient probably only has one lung, the right
(C) You have intubated the stomach
(D) Pull the tube back and listen again
SRTI- Y 3 UTEIq AR YEEA ol et e <l A R

(A) ferem FFI e, 30 Yepvg 3 fore Hama 3 3 fR st |

(B) wist 3 et g T €N o T 2 |

(€) T S AR -TAT G S |
(D) A aE T TR A |

e i i . e o e S

s |, e e o e o
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31. Diazepam is prescribed for a client with anxiety. The nurse instructs the
client to expect which side effect ? -

(A) Incoordination (B) Cough

(C) Tinnitus (D) Hypertension

Wmm@mnawﬁéﬁmng% |7 feper sparTe 3 fore avmre et 7

(A) o (B) @il (C) wvigds (D) I TREM
32.  Spinal anesthesia is given at— .

HECSHT HIGTE el T femn S 2 ?

(A) L2-L4 (B) L13-L4 (C) L5-L6 (D) L1-L2
33. What is odynophagia ?

(A) Difficulty in swallowmg (B) Pain during swallowing,

(C) Unable to swallow (D) ‘Regurgitation

‘NSEA T F R ?

(A) e o wepeils

(C) e | Aam

34. Which hereditary disease is most cle
(A) Cystic fibrosis i
(C) Marfan’s syndrome

) ¥"Lupus erythematosus
(D) Myocardial infarction

i = e s R H A g 8 7
(A) FEw ageT (B) T A
(C) HRHA . (D) UL am
3s. Symp&mn /ous system induces
(A) Sectetion of digestive juices (B) Increases heart rate
(C) Secretion of saliva | (D) All of these
T fiyept yorreh e i @
(A) YT=Ieh T <hl €14 (B) T<T I TG
" (C) ARHIYHE - (D) F®wft
36. ECG chariges in myocaldlal infarction is
| (A) ST Segment elevation (B) Wide QRS complex
(C) Presence of U-wave (D) Prolonged PR-interval
) geumer § ECG _ |
T (A) ST@vEITH (B TAQRs Hgw
A5l (C) U—?R"ﬁﬁ - (D) Jrfereis PR-IHere
T I S “Eoﬁ;N“a"“aaaaﬁaiagea:a

L ,.

Ry e e TSy

o e e i A - A
v [Te -l -l L L N 1



37.

38.

39.

40.

42.

Classic symptoms of deep vein thrombosis include§ all the following except —
(A) Muscle pain (B) Homan’ssign(C) Swelling (D) Redness
T far e & 7 wf e wre &, e

(A) wgig (B) dmEEd  (C) WH (D) wreiga

How a nurse will teach breathing exercise for patient with chronic bronchitis ?

(A) Use chest breathing (B) Use diaphragmatic br eathing
(C) Use open mouth breathing (D) Use deep inhalation breathing
T Sli-ehrsfed aTel Tt <hl 6 Wi @i T R i Rramwr 7

(A) =R TIEH T ITANT e, | (B) AEIIER Yo 1 39 Y |
(C) Tl g T va&T H | (D) & GTE T 317 v |

A nurse is taking care of a patient with DVT and she must be aware that
venous emboli will be lodged in —

(A) Heart (B) Lungs (C) Liver (D) Kidney

TS 76 DVT aret Uit <6l 2@Tet = T 8 | 3 59 910 & 3erTd 2T =1ieq
Rrees af 3o @it gt = -

A) w@d . (B) FHAHE (C) WWE (D) T
Conjunctival xerosis occurs due to the deficiency of —

(A) Vitamin- A (B) Vitamin-C (C) Vitamin-B (D) Vitamin-D
JETeTSHel Ysehal Tepmeht it 3 HROT el ] 2

. @ frafim-A (B) fefm-c (C) fefa-B (D) foeiftm - D
41.

A patient' with gout should follow what type of diet?
(A) ‘High calcium diet (B) Low purine diet
(C) Potassium modified diet (D) Renal diet

T aTet Wit o1 o TepR Sht s /4o i =1fee 7

(A) = Hiowrm guw (B) = oI G

(C) -wrefrm wuiafie T (D) TR T GUh

A patient is suffering from a broken jaw, Which foods would be most
beneficial for this patient ?

(A) Carrots, fried chicken and cereals (B) Rice, watermelon and smoked fish
(C) Tacos, peanuts and fresh broceoli (D) Soup, pudding and ice cream

T Mt 22 3T e A ARG B | 3w Ao % R FRE SRR 1 IS Ei
HIIGHE BT 2 | ‘

(A) TR, Yt 7l qe e (B) =, T T S wee

(C) I, =i emt qon s sihielt (D) gg, o7 T STTFE-7hiH

-
e it .t e, e, gt . St 9 S

R
e ———
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43.

44,

45.

46.

47.

48.

A e (B) ISl (C) ferer RELE

Prevention of Food Adulteration Act was amended in = ,
(A) 1964 (B) 1976 (C) 1986 (D) All of these

wr etz Jpum sifufem daem gan @
(A) 19647 (B) 19767 () 1986H (D) TEah

Good source of vitamin-D includes all except —

(A) Blue Berries

(B) Sunlight e

(C) Salmon ‘ i

(D) Fortified milk and other dairy products

75 of) faaiftm-D % o8 gl 8 faam

(A) =L (B) & s |

(C) HreTH (D) Hgg g a1 3 3 3]

The word personality is derived from Greek word “Persona” which means —
(A) Drama (B) Mask (C) Cloth (D) Face

e TR T T T & e g B, Foret e ¢ |
(A) IO (EF) (B) W (gEe) (C) T (F@) (D) H (V)

In which defense mechanism an emotional conflict is expressed by a
physical illness or physical symptom without any organic cause ?

(A) Sublimation (B) Conversion

(C) Compensation (D) Suppression

R Rorelt e RO F T e ST s g @ g fonw waror yoed)
i T ST Herd gT G S 7 L
(A) Feu@d  (B) ®W@@  (C) (D) T

Nurse patient relationship is.'—
(A) Human to huinan relation (B) Superior subordinate relation

(C) Subordinate superior'relation (D) Employer employee relation

v 1 GeY BT 8 ¢

(A) TE & AFE G (B) afts-Hiss day

(C) Hfrs-aitss T=H (D) TrlerT-A=r Eey

Which of the following is not the type of the wound ?

(A) Contusion (B) Ulcer (C) Laceration (D) Puncture
 fry @ T SRR 7 -

s e e
- " I e e e e et g ey v
o oniinre; e et v . P
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49.

50.

51.

S2.

53‘

54.

i, - ot s e e s i b ——
TR 1 A S, ke

Immediate treatment of ingestion of poisonous subject is

(A) Induce vomiting (B) . Forced diUreSi}? :
(C) Gastric lavage (D) Seek information to identify drug

vt el 3 it o F SRR ¢
(A) IS (B) SIetrd e
(C) 3% vamem (D) ATt Tg=H & forq sieehrlt g

The minimal score possible on the Glasgow coma scale is —
T SHIHT EeheT T el =T SRR ¢
(A) 1 ® 2 (€) 3 (D) 5

Concentration of KMnQ, soluti'on_used for oral hygiene is —
FI B3I % o S KMnO), et <61 H157 2 -
(A) 1:1000 (B) 1:5000 (C) 1:100 (D) 1:10000

What is mandatory before glucose tolerance test ?

(A) NBM 8-10 hrs prior to test .
(B) Rich carbohydrate diet from 2-3 days before test

(C) Stop the giving medication

(D) No need to change anything

TS TSI TEEI0T § TEe! T STTEvH 2 7

(A) Tieror & 8-10 T2 7@ NBM

(B)  wiam & gt 2-3 f& 7 FEieRse W WeH
(C) amgai <A1 sg |

(D) i3 uftar <t SR TR & |

Knee-chest position is also known as

(A) Fowlers position (B) Lithotomy position
(C) Genupectorial position (D) Left lateral position
- BTt 1 TRy 7 ot gl 2 -

(A) iR feuf (B) freiierdt feufa

(C) T e fRafy (D) saf-ured Rl

Method of administering a drug by topical friction over skin is called -
(A) Instillation (B) Inunction  (C). Insertion (D) Insufflation

T < S ERIE] ET g U <EE o ) e R |
(A) 3R (B) AWM (C) waeH (D) FTHFRITH

o ey i A P - e - - .
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55.

56.

57.

58.

59.

60.

61.

Infusion of 1000 ml of NS over 12 hrs require how many drops per minute
when the drop factor is 15 drops/mint ? . o
(A) 15drops/mint (B) 17 drops/mint (C) 21 drops/mint (D) 23 drops/mint
12 592 5 NS 1 1000 i 7 31 ) & forg fehat gia st Fre 2 2 g

R 15 g/ B 7

&) 1sguf. @) 17gef (©) o1, (D) 23 g

In autoclave temperature should be —

- o a9aE e g Iee ?

(A) 63°C (B) 121°C (C) 115°C (D) 141°C
In adults most common site for taking pulse is —

(A) Radial vein _ (B) Radial artery -

(C) Brachial artery (D) Ulnar artery L
TR 1 UeH o ) TE-amT g5 B | e
(A) ol B | (B) 37

(C) gt et | (D) 37=: Tehifsaeh gl

Hey’s test is the test for—
(A) Albumin  (B) Bilesalts (C) Acetone (D) Bile pigments

2 %1 TeT frgss faw 2 2
(A) wgfm (B) fmam () wReH (D) et

Calculation of pediatrics doses of medication for children under the age of 1

year is done using which formula ? ,
(A) Oddi’srule (B)‘ Fried’srule (C) Young’s rule (D) Evan’s formula

T 99 i I | HT & qs & 0GR w1 difseiem o i e e
Tt & <hl SiTeh & ? | |

(A) s fmm  (B) wHEfE () MPem (D) damEn

1 ounce is equal to |

(A) 4 teaspoons (B) 6 teaspoons (C) 8teaspoons (D) 10 teaspoons
| g & e :

(A) 47 (B) 6= (C) 8= (D) 10 =W

Which of the following is considered as most important aspect of hand

zx‘ﬁi)ShiSng; (B) Water (C) Friction (D) Time

oap . | ime

D T ey R 1 - e e e e R 7 e

(A) @ (B) Lici (C) vy (D) TEg
I B e ST

Code No. : C-606/2020/Series-A



62.  The founder of modern NUISing 15 =

63.

64.

65.

66.

P —
—— e Tl i s

Code No. 7 CLo06/2020/Seriis-A .

(B) Florence Nightingale

A' ‘D 1] . ".
(A) Dorthea Dix (D) Marry Mahoney

(C) Clara Barton
i i % deR R | q
(A) Dffenfemw (B) FETERT (C) FWHEH (D) ) wer

Maslow Hierarchy of need is useful to nurses who continually prioritize a
clients nursing needs. The most basic or first level needs include

(A) Esteem and self-esteem (B) ifflf-actualization

(C) Love and belonging ‘ (D) Air, water and food

TR 6 ST S 3 8 % ¢ IEh § S gaw W ot
AETIEHAIST H 3w o 2 | Gaiites JTUTRE AT YUH Wl SEavasal &

(A) T T @HH (B) ®&-ued M

(C) TR T FHe (D) &1, I qe A

Lactated Ringer’s solution is contraindicated in —

(A) Hypovolemia (B) Bumn

(C) Lactic acidosis (D) Fluid lost as bile or diarrhea
Seeds fom ae Ffvg 8 -

(A) EREERIHAT

(B) SoH

(C) wifFes =™
(D) firr Freran e & &9 3 T i g

The stool discharge from ostomy is called
(A) Effluent (B) Cathartics (C) Colonic fluid(D) Mucosa

AT & 7ot Frsenaa e g
(A) wdgfarg . (B) fRem (C) TEEH TR (D) R

Color coding for nitrous oxide cylinder is —

(A) Black (B) Black with white shoulder
(C) French blue (D) Grey

5ey FHiaTgs fieiet & oy smer Hifn 2 -

(A) I ©(B) ue TSt S WY HEl
(C) s | (D) ¢




67.

68.

69.

70.

71.

Sharp instruments should not be sterilized by -

(A) Autoclaving (B) BoiJillg‘ .
(C) Hot air oven (D) Antiseptic solution
e ITHN o Rz i foran e @

(A) =R gr (B) el
(C) &I TR 31la g (D) AR IgeH G

The most common injury among older person is —

(A) Atherosclerotic changes in the blood vessels

(B) Increase incidence of gall bladder disease |

(C) Urinary tract infection gﬁ’eff-m

(D) Hip fracture il

(A) TR AR Rl uie (B) Rrerrr e &1 T ¥ =]l
(C) Y- kAT (D) Foree SRt

Immunity means —
(A) Antibodies & antigen reactions
(B) Transfer of maternal antibodies across the placenta

(C) Level of resistance of a person to a particular disease
(D) Acquired immunity by immunization
(A) THISTEIN qet T SffRan

. (B) m%mm@aﬁaww

(C) Fomeft s <fimmdt & Wftr wep safefd <61 Sferdier &
(D) Sfweror gry 3rfta wiaRe |

Which of the following is moist heat method of sterilization ?

(A) Autoclave (B) Hot air oven
(C) Pasteurization (D) None of these

e 8 7 off frsrmor i 1 fafr R 7
(A) didEea (B) BTN (C) TRYHEHV (D) T AR T

The disadvantages of incinerator is that it generates —
(A) Highly toxic gases (B) UV rays
(C) Radioactive rays (D) X-rays
YT ] e - I & 1 8 I htern R

(A) dafmmdd 0 (B) TS R

(C) ety fetl (D) &7-fomta}

o g s A W
o — e 8
B i i R R TSy

T St e S ¥ ik A0 o S—— s e S W

| 0
2 s et
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72.

73.

74.

75.

76,

77.

ORI RN o RN AR e
o ———

Which antibody is responsible for allergic responses ?
i R 3 fore i T GRS STErR 27
(A) IgG (B) IgA (C) IgD (D) IgE

The causative agent of plague is

(A) Mosquitoes
(C) Mycobacterium tuberculi

(B) Yersinia Pestis
(D) Mycobacterium leprael

] ] HH TS B - ¥
(A) TS (B) It v=ig
(C) TR I (D) HrEheFitEm T

Red Cross Society was founded by
(A) Henry Ford (B) Henry Dunant(C) Henry Browen (D) Henry Clyde

E iy SrEmadl i wuren i ol
@) FEE  (B) gk (O FHEE (D) FATES

Which Committee is also known as Health Survey and Development

Committee ?
(A) Bhore Committee (B) Mudaliar Committee
(C) Shrivastva Committee (D) Mukherjee Committee

=¥ = Thfy e gdeo qen fywrg gl & it SEt o 8 2
(A) wRaffs  (B) Faferrafufa(C) sfiarea |t (D) gEst gt

Schilling test is used for detection of —
(A) Folic acid deficiency (B) Cyanocobalamin deficiency

(C) Iron deficiency (D) lodine deficiency
fergehl g % foru fesfom vl ygwa g g ?
(A) Wiferes e $Ht it (B) HTghISRIH i il
(C) g (D) e il |
Temporary hardness of water is removed by
(A) Boiling (B) Filtration
(C) SODIS method (D) Addition of chlorine

. (C) SODIS fafrgmr © (D) wite P

bt e i Yl il e - s ———
e b et it S s ——
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78. The National Family Welfare Programme in India was launched in —

TR B U TR Sreaor e it gan o 7

(A) 1962 (B) 1958 (C) 1965 (D) 11952
79.  ASHA worker is posted in all given below places except —
(A) Community centres (B) Sub centres
(C) Field visits (D) Super specialty hospitals
ASHA ST %1 57 woft g o P foan e €, v
(A) HHGIRS Hg (B) JU-+%
(C) &3 qemehra (D) GR I iidiest
80. NITI Aayog was established by Govt. of Indiaon—~ o
(A) 1¥July, 2015 (B) 1% January, 2015 o
(C) 1*January, 2014 (D) 2™ October, 2015

N TR R NITI Imam S m Ha h s off 7
(A) 13, 2015(B) 159ad, 2015(C) 157ad, 2014 (D) 2 3T, 2015

81. Imaginary perception is called -

(A) Delusions (B) Hallucinations
(C) INlusions (D) Magical thinking
Iyl qfie FEear e :

(A) fevm (B) gy (C) wifa (D) g famm
82. Which therapy is used for treating phobia ?

(A) Aversion therapy (B) ECT (Electro Convulsive Therapy)
(C) Systematic desensitization (D) Hypnosis
W3] o1 YN ¥ g AR 2 -
(A) JAf=s1 R (B) ECT (50192 shi=aeiidra 2y
(C) worefrafagmdeer (D) W (Reifm)
83. The Mental Health Act was passed in which year ?
Tt e afafem fe = wia gam o 2 e
(A) 1955 (B) 1956 (C) 1987 (D) 1992
84. The duration of ECT is about _-
A) 0.1to 1 second EB) 0.1 to 1 minute
%C) 1 — 2 minute D) 20-30 second

ECT <t arafty ernm Sl & - iy
A) 0.1313wvs(B) 0131Fw (©) 12fme (D) 20-30 8T

e e, A b,

e o i e e
v B
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8s.

86.

87.

88.

89.

- 90.

Stage of mania which is characterised by intense sense of happiness is
(A) Euphoria  (B) Elation (C) Ecstasy (D) Ex'ﬂtatlon

3T v, <A fop eneforeRat & gl A fH AT |, R
(A) gEwE  (B) IeCTH (C) TR (D) I

The disease is characterised by 4 ‘A’s of Bleuler is —

(A) MDP - (B) OCD (C) Schizophrenia (D) Delirium
g ST S SRR ¥ 4 A” FINI e €
(A) MDP = (B) OCD (€) Tfta wem (D) S

Immediately before expulsmn of fetus, which of the following cardinal
movement occur ?

(A) Descent | (B). Flexion

(C) Extension (D) External rotation

yor % FrehTe o id vEet Foet H A i 5o < = wiea 2t R 7

(A) BN (B) G (C) w&R (D) =Teh g

An important 'landmark of the pelvis that determines the distance of the

_descent of the head is known as —

(A) Linea Terminalis (B). Sacrum

(C) Ischial spines 1 (D) Ischial tuberosities

AT <61 Th FEE RIE (Pﬁmﬁa-'h) aﬁm%mﬁﬁmm%
HEAT @ : |

(A) ffmefiafem . (B) @A

© femeE (D) e e

Early amniocentesis is done in which period of pregnancy ?

(A) 12-14 weeks (B) 14-16 weeks (C) 16-18 weeks (D) 9-11 weeks
qdl IeaayH, meiereen < farg aratt i fmm s @ 7

(A) ‘12-14'5'211‘5’ (B) 14-16111?1175' (C) 16-18T=mE (D) 9-11 ¥xilg

The placenta should be delivered in wnthm how many mmutes after the
delivery of the baby ?

(A) Sminutes (B) 30minutes (C) 45 minutes (D) -60 minutes
Wﬁ%ﬁﬁﬂ%ﬁﬂ%ﬁﬁﬁ%ﬁmmﬁ?ﬁaﬁﬁm ?

Ay s . @)y 30fme - (o) 45 (D) 60FFR

- Code Mo, 7 ColiGiA0I0 SeriosA g T T T T



91.

92.

93,

94.

95.

Which of the following fetal positions is most favourable for birth 7 .

(A) Vertex

(C) Frank breech presentation

(B) Transverse lie

(D) Posterior position of the head

T 5 o Pt 8 i e o o o SR R 7
(A) harersfig 4 (B) e TRl
TR (D) ¥ =t o= fRufa

(C) Wil

In fetal blood vessel, where is the oxygen content ?

(A) Umbilical artery
(C) Ductus arteriosus

it T et & anfereiom mrow el g 2 7

(A) R et . (B) TREINE mym

(C) =™ eRaiTw (D) Fopd waT o
Anterior fontaﬁelle is osé.iﬁed m -

(A) Soon after birth | (B) At 6 week

(C) At 18 months (D) AtS years

e Ty e H aftonfia g R |

(A) = < L T (B) 6HwE W

(C) 18WEH ™ D) 5T

3}1;; j ;rishly prepared ORS (Oral Rehydration Solution) should be used
(A) 12 hours (B) 24hours  (C) 36 hours D) 48h

@ ST TTY OR'S <l ST H & o1 F1fRe - ), Bhete
(A) 1252 & fid (B) 24 9udi % i

(C) 36 Hve & i (D) 48Hvai & i

Which component lack in human blood ?

(A) Calcium

(B) VitaminD  (C) [gA

T T FY o T e B R ?

@) f@fRD  (©) 1A

(B) Ductus venosus
(D) Pulmonary artery

(D) Magnesium

(D) Bwiftem

‘



96.

97.

98.

99.

100.

101.

. : ! e
Severe muscle wasting, growth failure and loss of subcutanepus fat ar

features of which of the following 7
(C) . Scurvy (D) Marasmus

(A) Kwasl B) Beri-B
Wﬁg’gloéglé%m;;m?aﬁwiﬁwﬁ%ﬁmﬁémmam

27
(A) TREER  (B) S0-s0 (C) Heff (D) HUETE

Which is the antidote for streptokinase 7
(A) Protamine sulphate - (B) Amino caproic acid
(C) Naloxone (D) Vitamin K

BRI FI TSR RAAE 7
(A) SIS Tethe (B) | TEFl g
(C) TN % (D) faarfmd

The first sign of ‘Digoxin toxicity’ is most likely to be
(A) Headache (B)Y jiiesd®
(®) Anorex1a Ty “haused & Emesis

deep LM. by ‘Z’ technique ?
(C) Calcium (D) Vitamin-C

(©) gﬁi?\qa”" (D) Taatm-

Whim@h IBwing is a functionally active form of vitamin D ?
(A) Gholecalciferol (B) Ergocalciferol

(C) Dehydrocholesterol (D) Calcitriol
e & e a R D o el i e 7
(A) TMABfeashid ~ (B) erithfcuhis

C) IEEgHETE D) aﬁaﬁ;&ﬂﬁ

The term bacteria was coined by
(A) Leeuwenhoek(B) Louis Pasteur (C) Robeit Koch (D) Ehrenberg

T ‘T & T &
(A) TETEH  (B) ?@‘W © uaém (D) @@l@f
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102.

103,

104.

105.

106.

107,

108,

J T R e

Component of cell wall of fungi is
(A) Cellulose  (B) Pectin (C) Chitin (D) Dextrin

e ) R e i sz @
(A) §qEE (B Afdem (C) wrgfe (D) el

Irregular nuclei are present in
(A) Neutrophils (B) Basophils (C) Eosinophils (D) Monocytes
Ffafta Hsw R e # -
(A) =Rfeem  (B) e (C) edfwEifee (D) HHAEEE

Collogen fibres are characteristics of which tissue ?
(A) Muscular  (B) Epithelial (C) Connective Nervous

SHIciSH g S8 ek ol SaivEsd € 7

(A) Uit (B) 3l (©) a‘vfﬁﬁ

Plasmolysis will occur when the cell is plac AR E@
(A) Hypotonic solution 3¥ N ypertonic solutnon

(C) Isotonic solution _{(B), None of these |

e SRS B ' gfea g 2 |

(A) FIAWEY  (B) (D) 38 & HE 2

(A) Semnpermmb (B) Permeable
(O Selectiv 2 (D) Impermeable

(C) =f@ Ty (D) IMWT

Most conmmion monomer of carbohydrates is

(A) Glucose (B) Fructose (C) Sucrose (D) Maltose
FHTATEIRELH 1 AU UHETH &

(A) TR (B) WERN . (C) G (D) WEd

In meiosis, synapsis occurs during

(A) Interphase  (B) Prophase  (C) S-phase (D) Leptotene
S ) Leptotene

syefegor i, g afea g R

(A) ammmn ®) r{afwn (C) S-drawen (D) AL

el - Ay
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109,

e

11l

112

113,

114,

Testasterone is weerated by

(A) Levdig cells (B) Spermatogonia

{C) Spermatids (D) Al of these
WRBwmamgmd .

(A) afgn st g (B wwizmbym gm

(C) Sgywm o (D) Bl & o

At the time of implantation, human embryo is called _

{A) Embryo (B) Blastocyst (C) Zygote (D} Foetus
SRV 3 TG B8 1 YO FEEATH R -

{A) YO (B) =g (C) aws (D) mi
Ovulation occurs under the influence of

(A) Leutinising hormone (B) Estrogen

(C) Follicle stimulating hormone (D) Progesterone

e i & e feaitersla wfta g & ¢

(A) wffemEfim g (B) TR

(C) wifesa fewgein gmi (D) WERUA

Amniocentesis is the withdrawal of amniotic fluid in

(A) Menopause (B) Lactation (C) Gestation (D) Partuntion
TFAG 7 369 A B YA 2 |

(A) wfEfe (B) FU9M (C) wmim (D) W
Sickle cell anemia is

(A) Autosomal dominant inheritance(B) X-linked recessive inheritance
(C) Autosomal recessive inheritance (D) X-linked dominant inheritance

zr3 wifo A B

(A) B s @wryTa (B) X-uefers wees sugm
(C) ow w= AT (D) X-wEifern sl s
DNA nucleotides are attached by

(A} Hydrogen bond (1) Covalent boad

(C) Vander }\'ulls bond (D) Plectrovalen bond
DNA = sz o9 pu i #

(A) ¥EI%A du (1) e

(©) yHE afe Wy " () foreg = wevoft



115 Inteclerons are

(A) Antisbacterial proteing (BY  Anti-viral proteins
() Complex proteins (D) Anti-clotting proteins
LSUURIT IR

(A) TA-dadiwa v (B) wA-ame W

() wfew oA (D) A -weife g

116, Which is a respiratory discase ?
(A) Polio (B) Arthritis (C) Asthma (D) Cancer
w1 g dmh R ¢

(A) qifemn (B) amefmefa (C) amm (D) &

117. Hepatitis-B virus is

(A) Hepadna virus (B) Variola virus E ;
(C) Retro virus (D) Picoma virus
Rlefea-fagw @

(A) W IR@ (B) MNAMIBEC) W aR® (D) oI aFH

118. Streptomycin is produced by

(A) Streptomyces scoleus | (B) Streptomyces fradial

(C) Streptomyces venzueleae (D) Streptomyces griseus

VWRARRA e <l Al 2 -

(A) RRHEEE Fhieiad (B) WLMIZEH HeUs

(C) WRHEEE A (D) w<mrEy figs
119. Dermatoglyphics is connected with

(A) Skin diseases (B) Skin care

(C) Cosmetics (D) Finger printing

Erra L T R AR R

(A) Fa il | (B) w6l @ |

(C) wrafera @ (D) 3ieh ward (Rem-ffRim) &
120, DNA ¢lement with ability to change its position is called

(A) Cistron (1) ‘Transposon () lntron (D) Recon

DNA @1 ay av o0 s cena afeads w0 e amel o
(A) ol () gl (O) WE (D) W



121.

122,

The seals found at Indus valley sites are made of
(A) Silver (B) Bronze (C) Steatite’ (D) None of these

T8y et vl @ s e R oft | '
(A) Si@H  (B) w@H (O RW@H (D) 3790 d 5

The philosophy propounded in the Upanishads is known as

. (A) Yoga (B) Vedanta (C) Advaita (D) Samkhya
sufg # yiefea g 2 - |
(A) Frm (B) I (©) 3gd (D) &&=

123.

124.

128,

The important administrative functionaries in the Mauryan age were known as
(A) Tirthas (B) Amatyas (C) Mantrins (D) Yuktas

A 1 H grege wenafe et 9 e 9

(A) ief (B) 3THTE (€) (D) =

Who founded The Chola empire ?

(A) Vijayalaya (B) Rajendra-I (C) Raja Raj (D) Vijayendra
N HIHTSY T T HIT o1 7

(A) fosmem (B) gl (C) WIS (D) feormg

The only sultan who declared himself caliﬁh was

(A) Alauddin Khilji (B) Mubarak Shah Khilji
- (€) Khusran Shah (D) Muhammad bin Tughlaq
T W g 78 379 STIeh! Welis wift fomar -
(A) FeTEHem Reesht (B) TR g faesht
(C) gw e (D) Hewe, for grerss

1260

127,

The famous peacock throne originally belongs to
(A) Humayun (B) ShahJahan (C) Akbar (D) Nadir Shah

G fRre, T e 9 @ Wit R
(A) 7@ (B) WEWEI® (C) IHRA (D) TR WE

Tipu Sultan was finally defeated at the hands of

(A) Lord Cornwallis (B) Lord Wellesley
(C) Lord Dalhoqsie (D) John Shore
&y geam s 3 e 3 el vaft gu 7

(A) TISTETE (B) widddweht (C) wifd Soamst (D) Wi 9K

s fndieg
i it ] . e e =



128.

129,

130.

131.

132.

133.

The Prarthana Samaj was established by

(A) lyotiba Phule (B) M.G, Ranade

(C) Atmaram Pandurang (D) Raja Rammohan Roy

ST TS bt T o) off

(A) e Bt 3 (8) Tw.3ft, TS A

(C) ATHIH wigeT (D) TS THHIEA T

Block mountains have originated as a result of

(A) folding (B) faulting

(C) volcanic eruptions ' (D) All of these .
Torges TRUTTEEY ‘weite HrEe’ w1 fmior gam 7 @y

(A) ToH (B) YeM e

(C) SITeHE IR (D) Tg & ‘

The horizontal movement of air is called |
(A) wind (B) jetstream (C) air mass (D) pressure belt
&1 i S =T wEed & |

(A) = (B) SkRwarg  (C) &MU (D) TE 9

The largest island in the Indian ocean is
(A) Sumatra (B) Maldives  (C) SriLanka (D) Madagascar

g TR A geg Sl giu 3 :
(A) gHE (B) Wi (C) fiera (D) TSI

Which is not a greenhouse gas ?

(A) Methane (B) Carbon dioxide

(C) Chlorofluorocarbon (D) Nitrogen

i @t g T TGI8 ? |

(A) B (B) e SRIATHES
(C) FeRFLIBIEH (D) AT

Which of the following is structurally the most stable region ?
(A) The Indo Gangetic Plain (B) The Deccan Plateau
(C) The Himalaya (D) The Punjab Plain

fre 1Y 9 91 SrETe o) I TEE R @9 R 7 .
() ﬁg—wﬁm(B) giErfiwer  (C) femmem (D) dea & AgA

o — TS Sy i .
i e o S T o e e e W e e 1o T p—— A -———
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134 On which river are the Marble Falls located 7
(AY Mahanadi () Godavari  (€) Narmada (D) Tapti
o sl e dm v arwfem R 7

(A) TR () mMead (C) Wz (D)
135, A body falling freely under the action of gravity has

(A) No weight (B) Minimum weight

(C) Maximum weight (D) No effect on its weight

T & WM 3 Miqt g o dig g e

(A) e (B) =T YR FH

(C) iftrwam YR (D) 38F YR 9T HE W0E TH 5B
136. The friction in a flowing fluid is called

(A) Density (B) Surface tension

(C) Viscosity (D) None of these

WaTTEd et 3 v HET @ :

(A) = (B) TSWE  (C) W& (D) % & % 7l
137. Waterisa

(A) Linear compound (B) Polar compound

(C) Non-polar compound (D) Electrovalent compound

A RTE .

(A) tEa aifis | (B) yefta Qs

(C) syt At (D) -2t s
138. 95% ethanol is called

(A) Rectified spirit (B) Absolute aleohol

(C) Methylated spirit | (D) Powet aleohol

95% VAT ) wwl el R

(A) wahftr aftfre Sy fros v

(C) foame g viifiz (1) i uEREE



139 From where we borrowed the parliamentary form of government ?
(A) Russia (B) Ireland (C) Britain (D) America

B BTN 1 HHE EEY el & 70 8 ? .
(A) w4 B) smds (O A (D) IR
140. What type of writ is not issued under Indian Constitution ?

(A) Injunction (B) Mandamus (C) Prohibition (D) Certiorari
sl B 3 agq S g e T 7Ei i S w7

(A) = (B) wwrRw (C) Ry (D) 3T

141. Who administers the Oath of office to the President ?

(A) Chief Justice of India (B) Speaker of Lok Sabha
(C) Vice President (D) Prime

- gty &) ve Ty Hi feemma 7 }
(A) WA % TE =i (B)% =g
(C) 3I9y-Tregufd e

142. What is the retirement age off tl
(A) 60years  (B).g08

e of Supreme Court ?
(C) 65 years (D) 68 years

e e 5 AT P 3 R 2t 2 7
(A) 60T (B (C) 659 (D) 68
143. Thep’% svaluation i
(A) Encourage export (B) Discourage export
(C) Encourage import (D) None of these
HTEHAH R 2 ¢ |
(A) Frafd i ST S | (B) e = ediTea F |
(C) TG % HeTal & | © (D) FHERE A
- 144. Capital market regulator is .‘
(A) RBI (B) IRDA (C) SEBL - (D) None of these

(A) RBI (B). IRDA | (C) SEBI (D) gqﬁﬂaﬁ‘é EFil



145.

146.

147.

148.

149,

150.

C(C) TR FE " (D) wHafE

D is B’s father. B is C’s sister-in-law and A’s daughter, How is A related to D 7

(A) Wife (B) Mother  (C) Father (D) Husband
D, B % fimr 2 | B, C i mfl/7g aen A Tl ? | A, D3 forr v Gt B 7
(A) Tt (B) (C) T (D)

If the 5™ day of a month is Tuesday, What date will be 3 days after the 3
Friday in the month 7 |

If fereft ) 1 wierat oA FiTeraT ®, 1 ST W1 e YEhaR & i T o T
A = arE gl ?

(A) 17 B) 18 ©) 19 (D) 22

Which is the largest district (areawise) of Himac @ ? _
(A) Kangra (B) Kinnaur (&) ual i1 (D) Chamba
femrerer wew =1 Tad 51 firer (83 ST7ER 9
(A) IR (B) =R )

-farft (D) == |

Which district of Himachal Prédeshibas lowest Scheduled Tribes population ?
(A) Una . (B) (C) Sirmour (D) Solan

fearaer wew & H A A SASTIRN <6 ST e 8
(A) ST (C) i (D) HeH
Indraha%ﬁnn ts Kangra with

(A) Pathankot (B) Dalbousie (C) Bharmour . (D) Mandi
Eoa e e e SRR | |
(A) ©eF®R  (B) SoEsl (C) R (D) st

Hanuman Tibba in Himachal Pradesh is a

(A) temple - (B) glacier

(C) water sports centre =~ (D) Mountain peak
femreret e 3 o e R w0 - |

(a) T ' ®) R

e
e ————

— . o o g, o e,



151.

152.

153.

154.

155.

156.

Pin Valley National Park is located in which district of Himachal Pradesh ?
(A) Shimla (B) Kullu (C) Mandi (D) None of these
Femeren s 3 o ey o et arfer e st 2 7

(A) fmen (B) $w (C) Tug (D) T & s &

Zaskar mountain range separates Himachal Pradesh from
(A) Tibet (B) Nepal (C) “Bhutan (D) None of these

(A) femg (B) w3y (C) ERA | (D) 398 &+ T8

Who was the first
Commission ?

(A) Lt. Gen. K.S. Katoch (B) Maj. Gen. I.C. Katoch

(C) J.C.Malhotra (D) K.C.Malhotra
FemTeret s wiieh St i 3 wem w9 9 7

(A) Wz 7w .. o (B) AR Stet 3TTS. HY. Ha=
(C) <. gegen (D) %.4i. 7eaiE

chairman of Himachal Pradesh Public Service

In which year was the ‘Big Léhded Estates and Land Reforms Act’ passed
in Himachal Pradesh ? "

Fremrreret i o o e “srft i vt e i gome v it g 7

(A) 1951 (B) 1952 (C) 1954 (D) 1956
Gaiety theatre was opened in Shimla by the British in mm
forfem gro famen & 1) ot 6w e 2 B~
(A) 1885 (B) 1887 (C) 1891 (D) 1895

Which ruler of Bilaspur was forced by people to leave the state because of
his tyrannical rule ? | .

(A) Samundragupta | (B) Anand Chand

(C) Ghamand Chand (D) None of these.

m%aﬁqﬁmﬁaﬁwm%maﬁvﬁﬁm@@m
e fepam o 7 - s TR,

(A) WIFE . (B) EE - (C) wEg tD)saﬁﬁﬁﬁqﬁf

e —— e e



157.

ISS.

159‘

160.

161.

162.

- e g e e ¥ -
Vo - e e TS LA s o A, A T

Which ruler of Chamba was first to adopt the title of ‘Varman® ?
(A) Sahil Varman (B) Lakshman Varman

(C) Aditya Varman (D) None of these
< TR TRe whe R o1 R g’ w1 e gifde e ?

A) oReal () wemE  (C) aRmwh (D) wE AP T

Himachal Pradesh Technical University is located at which place In

Himachal Pradesh ?
(A) Hamirpur (B) Dharamshala (C) Mandi (D) Solan

fereret SR # o we (5o “TemTee wou e qfeiid fRma @ -
(A) THRE (B) el (C) TvEt (D) T

Which major hydel project in Himachal Pradesh is bemg run in
collaboration with Russia ?

(A) Nathpa Jhakri | (B) Parvati g
(C) Karchcham Wangtoo (D) Kol Dam o
mmﬁw%'mﬁmﬁ@% afeEieT At o

HIER ?
(A) TR (B) mai-cﬁ Iog (D) HiA ™

The book ‘Himachal Pradesly : e and State’ is written by
(A) Shanta Kumar (B) Dr. Y.S. Parmar
(D) O.C.Handa

| (C) J.C. Fra
Pﬂé;alrrﬁi@ﬂﬁ%ﬁ ?
(A) (B) EI. I.TH. THI

(C) s‘f (D) 7.4 g=

Suhij fair is celebrated at which place in Himachal Pradesh ?
(A) Pragpur (B) Palampur (C) Chamba (D) Jhukhala
&t Aem femrer wew % form wum oo S R 7

(A) ST (B) TRME  (C) = (D) HETe
When is the “World Braille Day’ celebrated every year ?

(A) January4  (B) January 22 (C) February4 (D) February 22
weres T fom “forer Sedelt e’ s S 2

(A) 45F=dt - (B) 225 (C) AwEd (D) 22%Ed

Uy diy it o AL e

Code No.: C—606/2020/Scries- B e e g e e



 163.

164.

165,

166.
167.

168.
169,

- 170.

Which state has recently launched a helpline for women called ‘Damini’ ?
(A) Uttar Pradesh (B) Uttarakhand (C) Maharashtra (D) Rajasthan

form T 3 B 3 el % e o Youes ‘gt IR 7
(A) MY  (B) sw@veg (C) HEN (D) TSEAHA

Sunita Lakra, who announced her retirement recently, is a famous Indian
player of which sports ?

(A) Tennis (B) Badminton (C) Hockey (D) Cricket
i vy, R grer #t i arot Fraf e o, o witrg s Rgerdl @ -
(A) FEH  (B) I () THRH (D) Tz &l

Meaning of the idiom ‘To beat the air’ is
(A) To make frantic efforts
(B) To act foolishly

(C) To make efforts that are useless or vain /g
(D) To make every possible effort e
Antonym of the word “‘Magnanimous’ is

(A) Selfish (B) Naive - (C) Generous (D) Small
You must your career with all seriousness.

(A) direct (B) complete (C) follow (D) pursue
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